CIEO2 spectral tristimulus valuesyyay(A)=1
Z02,1N)=Az1l 02,10 *+A32T02 1\ +AgaMoz 1)

2,01

400

Agj 0,000 0,000 1,000 AE440)

P60:3Z g, 1(A)=22,02
X02'1=0,3217
YO2,12013314

500 600 700
wavelengthA /nm

BE411-3A 1




CIEO2 spectral tristimulus valuesyyay(A)=1
Zg2,1(N)=A3z1l 02,1A)+Az2M02 1(A)+Az3Mp2 1(A)

Agj 0,000 0,000 1,000 AE440)
2,9 P55:57 g,1(A)=20,22
X02'1=0,3320
Yo2 , 1:0, 3407
400 500 600 700

wavelengthA /nm

BE411-3A 1



CIEO2 spectral tristimulus valuesyyay(A)=1
Zg2,1(N)=A3z1l 02,1A)+Az2M02 1(A)+Az3Mp2 1(A)

Agj 0,000 0,000 1,000 AE440)
2,0 P50:5Z o 1(A)=18,25
X02,1=0,3446
YO2,12013512
400 500 600 700

wavelengthA /nm

BE411-3A 1



CIEO2 spectral tristimulus valuesyyay(A)=1
Zg2,1(N)=A3z1l 02,1A)+Az2M02 1(A)+Az3Mp2 1(A)
Az 0,000 0,000 1,000 AE440)
2,0 P45:37 g 4(\)=16,10
X02'1=0,3603
YO2,12013632

400 500 600 700
wavelengthA /nm

BE411-3A 1



CIEO2 spectral tristimulus valuesyyay(A)=1
Z02,1M=Az1l 02,10 +A32M02 1N +A33Mo2,1(A)
Az 0,000 0,000 1,000 AE440)
2,0 P40:37 g 4(\)=13,79
X02,1=0,3799
YO2,12013764

400 500 600 700
wavelengthA /nm

BE411-3A 1



CIEO2 spectral tristimulus valuesyyay(A)=1
Z02,1N)=Az1l 02,10 *+A32T02 1\ +AgaMoz 1)

2,01

1,04

400

Agj 0,000 0,000 1,000 AE440)

P35:57 g 1(A)=11,32
X02,1=0,4047
YO2,12013904

500 600 700
wavelengthA /nm

BE411-3A 1




CIEO2 spectral tristimulus valuesyyay(A)=1
Zg2,1(N)=A3z1l 02,1A)+Az2M02 1(A)+Az3Mp2 1(A)

A3j
2,04

-~ =---

400

0,000 0,000 1,000 AEs440)
P30:5Z g 1(A)=8,75
Xgp,1=0,4362
YO2,12014038

500 600 700
wavelengthA /nm

BE411-3A 1




CIEO2 spectral tristimulus valuesyyay(A)=1
Zg2,1(N)=A3z1l 02,1A)+Az2M02 1(A)+Az3Mp2 1(A)

A3j
2,04

-~ =---

400

0,000 0,000 1,000 AEs440)
P25:57 5 1(A)=6,16
X02,120,4763
YO2,12014135

500 600 700
wavelengthA /nm

BE411-3A 1




